N = 0l & AHSE B Al M
20168 20ilat LBtalH sHL
2M: sE&Y
M HH2LTH(sS4)
&l: J1=3H| (&9 8 )
SA - B SRI(E) - NIRAY - BES 0l st o HIDEY
sS40 37,484,749 36,404,735 1,080,014
= 9,172,265
Xl 6,212,000
Jl 868,708
= 3,109,471
[ia 18,122,305
Y 2IAH(sF4) 53,832 52,088 1,744
Jl=&l 39,710 39,520 190
Jl=&H] 39,710 39,520 190
201 Zer2gH| 26,750 26,560 190
01 AtR-2teld] 22,250 22,560 A310
O Lerrg| 7,000
0 JIZAMRESHI 100, 0002 %25¢! 2,500
0 AFRD1DI € SAMES 13,000,000& 13,000
0 JIEt==ZH| 1,500,000 1,500
O SgH(s=4UPRFEN)
7,000 #25Q1%304 5,250
02 2324 4,500 4,000 500
O 3222 £ HAl 4,500
0 RER= S 4,500,000& 4,500
202 Oid| 12,960 12,960 0
01 2LHOAYI 12,960 12,960 0
O Z2obl(2S2Hl) 180,0003 6 & &*128 12,960
QIHA2 | 14,122 12,568 1,554
STYUASCAL Q14| 14,122 12,568 1,554
301 et2as 14,122 12,568 1,554
N JIEtEA= 14,122 12,568 1,554
OSAL A=A =& 14,122
0. A2 R=H 6,851&*1QIxb5A12H+ 123 4,522
0. 922 (ZLE) 50,000&*121x12& 600
0.24¥98sdd=2 600,000&*1Q1+12& 7,200
0.S==ZRA=E 150,000 1H+12& 1,800
HYXXN2H (sS4 11,420 11,420 0
FHEXZS 11,420 11,420 0
IE2AE ] 11,420 11,420 0
203 HRFZ&H| 11,420 11,420 0
01 J|22dPRF8| 3,300 3,300 0
O J22ggR=4a| 3,300,000 3,300
02 HRIHHRFAHI 1,920 1,920 0
O 2ot e=a| 40,0003 48 1,920
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SN SEAD
B HYIN2Y(SHAD)
Bl RAXN2Y CERE)
M =
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t 01l AroH HuESZ
03 AIMF=AHR =L 2,000 2,000 0
O ANHFHARFAH|(AE) 2,000,000 2,000
04 EM2IHRFEHI 4,200 4,200 0
O BASLYRFLLI 350,000& 122 4,200
s==153 2,000 6,000 6,000
< 3,600
i 8,400
sHoI=XSH 12,000 6,000 6,000
= 3,600
i 8,400
sENF 0legd 2AY 12,000 6,000 6,000
< 3,600
s 8,400
307 21240/ & 12,000 6,000 6,000
= 3,600
i 8,400
02 QIMHAANHEL 12,000 6,000 6,000
OsE&ESZ SMZ=XAASE 6,000,000&*2H 12,000
= 3,600
= 8,400
sESANSH ¥ A 16,321,931 15,594,209 727,722
= 7,435,907
Xl 168,000
Il 86,292
= 1,088,924
i 7,562,808
SYOASSH L MEHFIH 3,763,892 4,502,008 AT738,116
= 8,316
Xl 168,000
Il 29,424
= 108,583
i 3,375,569
STANHL SEAG F& 42,070 41,990 80
201 24| 17,420 17,340 80
01 At2teld| 12,920 12,840 80
Opt+2t| 5,500
0. SALABA U ARHEA
1,200 *1,0000H 1,200
0.24& 212 M 1,200&*300%+23] 720
0.31& MEM, 2aH S 7Y
90,0002 +12& 1,080
0. AITFSACIONY 2122 M
500&+5,0005 2,500
O2Ysg 4,480
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2N SEND
Y SE=TISE U Aok
9 SYIASSH L MPOEIE EEE)
S - - BREH) - MRAR - BaS of vt o HI DS
0.8 E&=E
70,0002 %3201%23] 4,480
O SgHI(=sZ4R=a) 7,0003+621x704] 2,940
03 &A= 4,500 4,500 0
OZg=eolg=HAL 1,500,000 1,500
SEMEils 2Eal &4 3,000,000 3,000
202 04| 14,400 14,400 0
01 =LHAHI 14,400 14,400 0
O OHI(=EgdR+8) 200,000 +62!x12& 14,400
203 PR 4,000 4,000 0
03 AIZFAIHI =] 4,000 4,000 0
O sSEMAHPEFA 4,000,000 4,000
301 Let2H=s 6,250 6,250 0
09 BAAHI2HS 6,250 6,250 0
O trsgel s 4 50,000& 30 *23] 3,000
Ol u=saA 50,00024%102! 500
Osggel a4 50,00024%102! 500
O=4HEltEs AIRE & clHusSEY
50,000&*1521%13] 750
OsUHENEFA0E AIRE & cHuS
50,0002 %15Q1x22] 1,500
sAolES2eXA 29,424 29,424 0
7 29,424
101 e124H] 27,41 27,41 0
) 27,41
04 J1I2ZHN22 XS24+ 27,411 27,411 0
OsX0ISAEHZAR 212 27,411,000 27,411
D) 27,411
201 deh=2 ] 2,013 2,013 0
Il 2,013
01 ArR2t2|H] 2,013 2,013 0
OAtR el 2,013,000 2,013
Il 2,013
SH=ROIX# 24,008 24,098 0
= 4,253
= 19,845
301 Let2L=s 24,098 24,098 0
= 4,253
= 19,845
01 MBI2EE 5= 24,098 24,098 0
OSIHEROIXEAS 2,677,500 » 9& 24,098
= 4,253
o 19,845
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SN SEMD
BE: SESTSH Y FYoHH
CH9l: SQIIASHM U MBOIEK| (erl: &g
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
seINHER=S 360,360 360,360 0
301 et2a=s 360,360 360,360 0
02 Zet=dsti= 360,360 360,360 0
@EEEIDIEEEIE] 360,360, 0002 360,360
s M EBHES KR 256,000 256,000 0
= 56,000
= 200,000
301 et2as 256,000 256,000 0
= 56,000
= 200,000
11 JIEt243 256,000 256,000 0
OselolTsHo B RI2 256,000, 0002 256,000
= 56,000
i 200,000
=M=ZEME0S 90,000 90,000 0
Xl 70,000
= 6,000
= 14,000
402 RIZ2EXH201 M 90,000 90,000 0
X 70,000
= 6,000
i 14,000
01 QIFEAMHE L 90,000 90,000 0
OSENSHSUSASTIA(1H2)
90,000, 000& 90,000
Xl 70,000
= 6,000
= 14,000
SASEAIRIN 1,950,000 1,500,000 450,000
402 QI2HRH=0I 1,950,000 1,500,000 450,000
01 QIF=EAM S E L 1,950,000 1,500,000 450,000
O sZLSSUAML 5,000, 000&*280 7+ 1,400,000
O 189 14585 84 50,000,000 1152 550,000
SEMES20E SEAY 127,168 128,224 1,056
= 65,080
= 18,627
i 43,461
307 QI2to1 ™ 127,168 128,224 21,056
= 65,080
= 18,627
= 43,461
02 QIZHEAAMNHES 127,168 128,224 1,056
OSEMEIISALEHS I
1,200, 0002162122 115,200
2 57,600
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A SEAD
Hu: SESNEE U FHOH
9l SQIUIASEN U MEOIEK|S (E491: &)
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
= 77,280
2 40,320
OSEHSEAUS ANAAS KA
208,00021+22% 4,576
2 2,860
= 515
2 1,201
OsEHgEAe 2aiux
528,00021% 14014 7,392
2 4,620
= 832
2 1,940
ZDSAAAT VR DS 28,000 40,000 A12,000
= 16,000
2 12,000
307 BI2F0IF 28,000 40,000 A12,000
= 16,000
2 12,000
= TONEEES 28,000 40,000 A12,000
OF V=AY VY DS
1,750, 00021+ 162 28,000
= 16,000
2 2,000
AREHOl TSI 30,500 16,000 14,500
= 15,250
2 15,250
201 Er2Y| 10,500 10,000 500
2 5,250
2 5,250
01 AlR 22l 10,500 10,000 500
O g5z 10,500
0 ALY 6,500, 0002 6,500
2 3,250
2 3,250
0 Wb 3,500, 0002 3,500
2 1,750
2 1,750
0 AR 500, 0002 500
2 250
2 250
202 08| 1,000 0 1,000
2 500
2 500
ENE] 1,000 0 1,000
O dsglol Y=FRADSET Ol
1,000,000%! 1,000
2 500
2 500
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A SEAD
Hu: SESNEE U FHOH
9l SQIUIASEN U MEOIEK|S (E491: &)
- _ _ po[E e
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH ‘Oﬂaa_"ﬁ HwEZ
101 21248] 19,200 19,200 0
X 19,200
04 IRIIRE NS 2+ 19,200 19,200 0
O oIl 1,600, 0002122 19,200
X 19,200
201 LBr2 | 75,300 38,300 37,000
X 63,800
2 11,500
01 AR 22l 68,300 32,300 36,000
O ARzl 1,000, 00024 +122 12,000
X 12,000
O LSH2H|(MAFOIT R 2E2)
80,00024+25024+ 13| 20,000
X 8,500
2 1,500
O LBr2HI(RHZFUR2-CHHSB)
200,000 %20% 4CH 16,000
X 16,000
O 222 MX(3E) 10,300, 000! 10,300
X 10,300
O HEFY| X 10,000, 00024 10,000
X 10,000
02 32| 6,000 6,000 0
O 2283 500,000+ 128 6,000
x| 6,000
03 A2 | 1,000 0 1,000
O BAISYHI(NHB=MBR B2AY 3HT
28 o|(21e)3l) 500,0002423] 1,000
X 1,000
202 01t 2,000 2,000 0
X 2,000
NENE] 2,000 2,000 0
O QISMIE 2% ol 2,000, 0002 2,000
x| 2,000
301 LB FAS 13,000 0 13,000
X 13,000
09 EAAUISAS 13,000 0 13,000
O A BAZ(RYBOIN AHDS &A
243) 10,00024%2502+23] 5,000
X 5,000
O AR 2AS(ZABOIX Z2tHl)
20,00024* 1002 43| 8,000
X 8,000
TARISA KA 72,000 0 72,000
201 LBr2 | 2,000 0 12,000

- 569 -




SN SEND
Ha: SESXSE Y YA
ol SAQIASEN o MEOIHXN (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
03 EAF= S| 2,000 0 2,000
O TAIRIRE er2s| &0t 12,000
0 sl &It 5,000,00021x23] 10,000
0 E28 SSHE 7Y 1,000, 0002 1,000
0 &40 R 100, 0002454 500
0 22 th M 100, 0002454 500
402 RIRHR 20| 60,000 0 60,000
01 S =AREE 60,000 0 60,000
O MRSl YsHAXIAAS
3,000,00024%202 60,000
B A=ARHUSAASHH 3,462,274 2,357,747 1,104,527
| 40,000
& 774,761
2 2,647,513
AR =AM R 445,287 608,480 163,193
201 Er2Y| 5,160 5,360 £200
01 AF= 22l 1,960 2,460 A500
OSYHI(F &Y =YREF)
7,00021421x704! 1,960
03 A2 | 3,200 2,900 300
OsEYLSI| 0K 34| 3,00021+4002! 1,200
OXBZUZS| (AAT) XS
1,000,00024+23] 2,000
202 o1t 9,600 11,600 £2,000
ENE] 9,600 9,600 0
OO0IHI(Z &Y s R4H)
200,00021#421+ 122 9,600
301 LBFAS 1,500 239,520 238,020
00 EAAEI 2 &S 1,500 1,500 0
OHUHFSHLFDE FABA  50,0002%302! 1,500
402 RIZR=0|H 429,027 362,000 77,027
01 SIREARES 429,027 362,000 77,007
ORBHIZEI} Sutely| X2
913, 50024 +678hax50% 401,027
OHBZENEX ASI| N
3,500, 0002 16CH*50% 28,000
DEIH MAX 880,050 759,500 120,550
201 Yur2 | 1,200 1,200 0
01 Al Rl 1,200 1,200 0
Of MR ASSE 7Y ¥ 23 M
1,200,002 1,200
01 LBFAS 4,850 4,900 A50
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SN sEND
Hu: SESNEE U FHOH
Sol: HEASASHUSALSRH (=EEE))
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH Ol] AkoH Hws2
00 BAAEI 2 A 4,850 4,900 250
OMFAS & U ZAMSHA  50,0002+65] 3,250
OSHQI(SHH) 1T L A8 A
40,00024#4021 1,600
307 BIRH0IH 5,000 5,000 0
04 BIZFHATATIE 5,000 5,000 0
ODBIY MATIY BAEE 5,000
0 & BIED| ZIICHE] 151+5,000,0002 5,000
402 IR0 & 869,000 748,400 120,600
01 BRITIZAIEER 869,000 748,400 20,600
OllHI R X2l 4] 5,000, 0002%1H4 5,000
OREAESSXY 4,000nax240, 0002 *90% 864,000
B SR 21 75,110 75,110 0
= 21,460
2 53,650
402 IR0 & 75,110 75,110 0
= 21,460
2 53,650
01 ERITIEAIEER 75,110 75,110 0
Obf SRIEIAY X
107,300, 00021% 14 A+70% 75,110
= 21,460
2 53,650
SIMALS EEIXI R 11,328 11,328 0
= 4,248
2 7,080
402 RIRIXH=0IH 11,328 11,328 0
= 4,248
2 7,080
01 BRITIZAIEEE 11,328 11,328 0
OSORIEASHHIXIZ  40,0002+354 K1 E+80% 1,328
= 4,248
2 7,080
RIS (S0 X2 81,000 81,000 0
402 RIRHRH=0IH 81,000 81,000 0
01 BIRITIZAIE B R 81,000 81,000 0
OFEH ST (S0 X
300, 00021 *540ha50% 81,000
=TI 120,000 120,000 0
402 QIRHXHRO0I 120,000 120,000 0
01 BRITIZAI R R 120,000 120,000 0
OYMISs SKTHRIRAR  2,40057h50, 0002 120,000
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SN SEMD
BE: SE=TSH U FYoHH
S9l: ABASASHUSOILSHH (erl: &g
x 5 . AT
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
LA R 45,000 42,000 3,000
301 et2a=s 30,000 30,000 0
N IIEtEAS 30,000 30,000 0
OYMAE DAY 0,000%3,0002! 30,000
402 2I2ERH201 M 15,000 12,000 3,000
01 2IZEA=2AMEE X 15,000 12,000 3,000
OS2IY MIILEESERAY
200hax 150,000 & *50% 15,000
DESEMAIHHR A 48,000 48,000 0
& 18,000
2 20,000
402 212EXH201 M 48,000 48,000 0
= 18,000
= 30,000
01 QIFEAMHE L 48,000 48,000 0
OLSEHMAT|EH 750, 0002 *80ha*80% 48,000
= 18,000
= 30,000
B SR 17,080 17,080 0
= 5,124
i 11,956
402 2I2EXHE0(1 M 17,080 17,080 0
= 5,124
i 11,956
01 QIFTEAMHELS 17,080 17,080 0
OHgEis3s2Hbl 35,0002 *488ha 17,080
= 5,124
2 11,966
ESSMESASEEHAES 67,200 84,524 A17,324
= 33,600
= 33,600
301 Let2A=a 67,200 84,524 A17,324
= 33,600
= 33,600
11 JIEt243 67,200 84,524 A17,324
OESSHSHENAR(42ha) 67,200,008 67,200
= 33,600
i 33,600
B SOtE St E K= 1,132,876 0 1,132,876
& 566,438
i 566,438
301 et2a=s 1,132,876 0 1,132,876
= 566,438
2 566,438
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SN SEMD
BH: SESTEX U HYOHY
Sl ABASUSHUSUIIASRH (erl: &g
3 MNEST -
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
N JIEtEA = 1,132,876 0 1,132,876
Ol THHHSIH 2 OHE X3 (3,8680a)
1,132,876,000& 1,132,876
& 566,438
= 566,438
B oS 2SN SHY (2 X 185,000 80,000 75,000
= 46,500
i 108,500
402 RI2EXHE01 M 155,000 80,000 75,000
& 46,500
= 108,500
01 2IZEAEAMHE X 155,000 80,000 75,000
O b Bohs ZSUX ==Y (82 X
1,200ha 100, 0002H+700ha*50, 0002 155,000
= 46,500
i 108,500
S22 H Holis ALl 22X 35,000 35,000 0
402 RI2EXHE01 M 35,000 35,000 0
01 2IZEAEAMEE X 35,000 35,000 0
O S Hohs YHl ASN
700hax50, 0002 35,000
i XDF 22EE A 75,000 0 75,000
402 RI2EXHE01 M 75,000 0 75,000
01 QIF=EAMHE L 75,000 0 75,000
Ol TOIE2BE KA
1,000ha*150, 000 *50% 75,000
ISR TSR X2 48,000 190,200 A142,200
= 18,000
2 20,000
402 RI2EXHE01 M 48,000 190,200 A142,200
= 18,000
i 30,000
01 2IZEAEAMSE X 48,000 190,200 A142,200
O Jlsas DK Z4
750, 00021+80ha80% 48,000
= 18,000
i 30,000
HoHEMAE XS M ASESEZ0F ALY 40,000 38,100 1,900
Il 40,000
301 Let2A=3 40,000 30,000 10,000
Il 40,000
N JIEtEAS3 40,000 30,000 10,000
O IHSHNT NS (AZEES)217ha
40,000, 0002 40,000
] 40,000
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SN SEND
Ha: SESNSE Y Y0
o9l HBYSASHUSAILSHH (Sr9): 1)
- _ _ po[E e
A -3 - SRA(ZH) - MRAY - BES Ol &FoH ‘Oﬂaa_"ﬁ HwsZ
DR sie TR AR 30,153 0 30, 153
= 20, 163
402 RIZHR=0|H 20, 163 0 30, 153
= 20, 153
01 SINEAES 20, 163 0 20, 163
OnBASME TR MDA 30,153,008 %0, 153
= %0, 153
HEAUZ AR XRAY 156,190 0 156,190
= 31,238
2 124,952
01 LB BAZ 156, 190 0 156,190
= 31,238
2 124,952
11 IEr=aE 156, 190 0 156,190
O HBFLAZHHE KIA(80021)
156,190,002 156, 190
= 31,238
2 124,952
A =YSHYA0IASEH 8,971,344 8,702,299 269,045
2 7,315,659
| 16,868
= 174,672
2 1,464,145
A A=A ZALY 252,707 183,667 64,040
2 252,707
01 LB BAZ 252,707 188,667 64,040
2 252,707
11 IEr=aE 252,707 188,667 64,040
ORE2 SR F RIS A (511.8na)
252,707, 0002 252,707
2 252,707
WS AR 3,508 32,000 508
2 3,508
201 Yur2H| 15,708 15,200 508
2 15,708
01 AF= 22l 15,708 15,200 508
OBASIZRH MALIAE2 L U2y
| 15,708, 0002 15,708
2 15,708
202 04| 16,800 16,800 0
2 16,800
ENE] 16,800 16,800 0
OMASSHIZRH Oyl 702x20,0002112% 16,800
2 16,800
BASSSHRZH| 5,000,000 5,000,000 0
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A SEAD
B SE=NEE Y PY0H
9l FABASAIHUSIASHH (29 H)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH Ol] AkoH Hws2
= 5,000,000
301 LBHR A 5,000,000 5,000,000 0
3 5,000,000
11 JIEr2 A 5,000,000 5,000,000 0
OXASSHFEIZR(5,000h)
5,000ha* 1,000, 0002 5,000,000
2 5,000,000
TAZ2ANS HEHAY 219,350 219,350 0
2 175,480
2 43,870
301 LBHB AL 219,350 219,350 0
2 175,480
2 43,870
11 JIEr2 A 219,350 219,350 0
OZAZ2INAZIER A2} (43%ha)
219,350, 00024 219,350
= 175,480
2 43,870
EES T ! 711,000 656,365 54,635
2 497,700
2 213,300
402 LIZHRHE0|H 711,000 656,365 54,635
2 497,700
2 213,300
NEEDEENEEES 711,000 656,365 54,635
OEONZRIKIBAI(5,2055) 711,000,000 711,000
2 497,700
2 213,300
S EEERNENE 1,965,840 1,909,595 56,245
= 976,000
= 80,848
2 908,992
402 DI2EXHR0I & 1,965,840 1,909,505 56,245
2 976,000
= 80,848
2 908,992
01 DIRIGZAIIEE 1,965,840 1,909,5% 56,245
OSIIZHI 2N AI (23, 6M4E)
1,965,840,0002! 1,965,840
2 976,000
= 80,848
2 908,992
22/ LMK AL 57,600 43,200 14,400
= 21,600
2 36,000
402 IZHTHEO0IA 57,600 43,200 14,400
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SN SEND
BE: SE=TSH U FYoHH
o9l HBYSASHUSAILSHH (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
= 27,600
2 36,000
01 SIIEAEES 57,600 43,200 14,400
OR2ALSLRIAY 200hax360, 00024 +B0% 57,600
= 21,600
2 36,000
AR =AW LT 2SI 2,880 2,880 0
= 576
2 2,304
201 Yoty 2,880 2,880 0
= 576
2 2,304
01 AF= 22l 2,880 2,880 0
OHUBASHHBNET  302+8,0002 12042 2,880
= 576
2 2,304
AEAME S SYALYE 2 12,000 20,000 28,000
= 6,000
2 6,000
201 Yur2H| 12,000 20,000 8,000
= 6,000
2 6,000
01 AF= Rl 2,000 20,000 8,000
OHHAME =Y SFTALYT 2
2,000,002 12,000
= 6,000
2 6,000
B SRAT Al JRA 45,000 45,000 0
402 RIRER =01 45,000 45,000 0
01 SN REARES 45,000 45,000 0
O HS2AT RA X
90,0007H+1, 00024 +50% 45,000
2o m 2| 320,660 188,162 132,498
2 320,660
201 Yty 2,53 0 2,53
2 2,53
01 Al el 2,5% 0 2,5%
OgmEH L2l 2,535, 0002 2,5%
2 2,5%
202 it 4,000 2,100 1,900
2 4,000
ENE] 4,000 2,100 1,900
OEZRIER oyl 4,000,002 4,000
2 4,000
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A SEAD
B SE=NEE Y PY0H
9l FABASAIHUSIASHH (249l HR)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH Ol] AkoH Hws2
301 LBHB AL 314,125 186,062 128,063
2 314,125
11 JIEr2 Al 314,125 186,062 28,063
ORI ARl (7850a) 314,125,0002 314,125
2 314,125
EUNZH BSAE ALY 49,500 39,000 10,500
402 DI2EXFR0I & 49,500 39,000 10,500
EEDEENEEES 49,500 39,000 10,500
OELMTR BEAT Aei(164,816X)
49,500, 00024 49,500
SIISATH N2 AL 151,511 110,880 40,631
2 60,604
= 27,272
2 63,635
402 IZHRHE0|H 151,511 110,880 40,631
= 60,604
= 27,272
2 63,635
D ENEEES 51,511 10,880 40,631
ORISR R 303,022, 0002 *50% 151,511
= 60,604
= 27,272
2 63,635
2= HE=)t IBREXRAY 126,000 36,000 9,000
= 36,000
2 9,000
402 DI2EXFR0I & 126,000 36,000 90,000
= 36,000
2 90,000
EEDENEEES 126,000 36,000 90,000
ORIIsY HESI IZREXAA
180,000, 0002174 A *70% 126,000
= 36,000
2 9,000
IHPHEE U HANDAIY #=E| K2 16,868 0 16,868
| 16,868
201 LBr2| 10,788 0 10,788
| 10,788
01 AR 22l 10,788 0 10,788
Oalolsl2gll L Avr2yl 10,788,002 10,788
| 10,788
202 O1H| 6,080 0 6,080
p 6,080
01 =LHoid| 6,080 0 6,080
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SN SEMD
BE: SE=TSH U FYoHH
S9l: ABASASHUSOILSHH (erl: &g
3 MNEST -
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
OLIHEEEEM il 6,080,000& 6,080
I 6,080
HEA=s FENE =52 X 7,920 0 7,920
= 2,376
2 5,544
201 Lsr2gy| 7,920 0 7,920
< 2,376
2 5,544
01 At22teld| 7,920 0 7,920
O & Fols HPAS =2 NAY
7,920,000 7,920
< 2,376
2 5,544
PSP 52,870 2,630 50,240
2 2,730
i 50,140
=2e| K& 2,730 2,630 100
= 2,730
201 24| 1,092 1,052 40
= 1,092
0T AFE 22/l 1,002 1,062 40
Ogt==H| 10&%109,200& 1,092
= 1,092
202 Oid| 1,638 1,578 60
= 1,638
01 SLHOALI 1,638 1,578 60
OLZYUR =X 819,000& 20! 1,638
= 1,638
220I20] 1Y 22N 50,140 0 0,140
101 21244 140 0 140
04 DI H2Z2 RS ES 140 0 140
OZTHIZ0| A2 WH 2% A
70,0002 %221 140
402 2I2EXHE01 M 50,000 0 50,000
0T SRIEAIEE 50,000 0 50,000
OZ3dI=0] Y XI&A 50,000,000& 50,000
GAP(RsitE) 2elNE2Y 71,551 29,525 42,026
= 35,202
= 10,908
= 25,441
GAP(Rrsdts) 2T 36,323 29,525 6,798
= 17,588
= 5,624
i 13,11
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SN SEMD
B sE=Nsd 3 Aoy
9l GP(2asAE) B (erl: &g
. MET
SA - FH - S2(33) - MPAY - BAS atol il Aron 2
307 BI2+0I& 36,323 29,525 6,798
= 17,588
= 5,624
= 13,111
02 S Z AT 3,323 29,525 6,798
OGAP 1B 11,190,000& 11,190
= 3,357
i 7,833
OS2 P4B2INE(6AP)HEA A X
25,133,000& 25,133
= 17,588
= 2,267
2 5,278
4K GAP et Y 35,228 0 35,228
= 17,614
= 5,284
i 12,330
201 B2 35,228 0 35,228
= 17,614
= 5,284
2 12,330
0T AFS 22/l 3,228 0 35,228
O 4T 6P XA
141435, 228, 00021 35,228
= 17,614
= 5,284
i 12,330
SsEdHERL 102,080 84,600 17,480
SsEdE AT 102,080 84,600 17,480
3SsEHE EE0 102,080 84,600 17,480
201 LEL2EH| 102,080 84,600 17,480
01 At22teld| 99,980 82,500 17,480
@=L S(HAIE )
80CH*100,000&*12& 96,000
@R = s
70,0002 +721%23] 980
O_T’_EEEHE EH/\l il-’pl_i“
150, 0002 *20CH 3,000
02 Z==24| 2,100 2,100 0
OssEde Z0H 23 50,0002 *12& 600
OZsEdE 2 |Xjze| 125,000&*12& 1,500
FEHXl =4 & 2t 2,598,053 4,692,314 2,004,261
= 106,325
Xl 500,000
= 515,684
2 1,476,044
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2A sHAL
Mz SQECK X4 & 22|
o2 RSAFAg2 29 (cte: =)
- _ _ PlEL=
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH loﬂ/l\_m“ Hlus2
XA 2|2y 1,428,627 3,649,294 N2,220,667
= 106,325
Xl 500,000
== 126, 171
= 696, 131
Les SHNIE THY 2ASAIE 29 546,735 522,740 23,99
101 @1244| 2,895 0 2,895
04 JDI12tHI2E2XsEx 2,895 0 2,895
O S4E Tl 293 21AHH|
48,2403 x30L x2H 2,895
201 LEt2AY| 78,240 62,340 15,900
01 At22teldl 25,460 23,460 2,000
O =E4=E 212 & 4,00001*2,000& 8,000
O sS4 AT HI= 8,00001*700& 5,600
O sS&E =3XE dd 5CH+1,000,000& 5,000
O sS42 T, E2E st AU =
HHA Xz 700,000& +5CH 3,500
O Z=2g35| ARIX| ASH XA |
700,000& *23] 1,400
O SEH(REFEYLRFA)
7,0002%401x704] 1,960
02 33294| 5,280 2,880 2,400
O sS42 g8 20 &8IIe2
120,000 * 128 *2J A 2,880
O MUY AWE AIEEH| AU
200,000&x12& 2,400
03 HAIZEH| 47,500 36,000 11,500
O Bravo dY =sS4t2 2123 &0t
22,500,000 22,500
O N2 2UA AlZEEs| &t 10,000,000& 10,000
O B4 HIAT SAE 8| 20}
10,000,000& 10,000
O THIEX E8 AL 250, 000& *x203] 5,000
202 o481 14,100 14,100 0
01 2L I 14,100 14,100 0
O HHl(REs+EY9248)
200,000 #401x12& 9,600
O GHl(=sS42 o= 2 AHEH &9)
150,000&*321x 102 4,500
207 AT 4,000 0 4,000
02 MADNEY| 4,000 0 4,000
O ¢HIE AZZ SHOIX RE(YO0IE)2E
4,000,000& 4,000
301 LetE A 27,500 6,800 20,700
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=A: ESEND
Hu: 2SCX I8 U 22
ool REXALBLISY (Er9): &)
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
CEIPErS= 7,500 6,800 700
O SSH2 22 2 SHEA &4
30, 000214524552 #43] 3,000
O SSH2 BRHE U o123l &x
30,0002 +52§x52+63] 4,500
11 JIEt2 A2 20,000 0 20,000
O =Sa2 HiEHE N 20,000,002 20,000
307 BI2H0IH 6,500 5,500 1,000
04 PIRIEATAIRIR T 6,500 5,500 1,000
O BRHHES S8t AUIRCH Y2
2,500,0002! 2,500
O AN, OIE S STHAl
500,0002+83] 4,000
402 DIRXHZ0IF 413,500 434,000 £20,500
01 BRIEAZEE 413,500 434,000 220,500
O BESUS THUHA MRS
300,000, 0002 300,000
O Z#Z & Sbhyl KA 20,000,008 20,000
O ASIIE CIZBIALY 24 50,000, 0002 50,000
O AEEIE BN SXIH X
7,000, 00024 %1 JHA+50% 3,500
O SN2IITHE TR KA
10,000, 0002 +5 74 24l 40% 20,000
O =8 NNHSBAY S4H2 THUA 2
20,000,002 20,000
AME DA 1,892 0 1,892
2 1,325
= 171
2 396
307 BI2H0IH 1,892 0 1,892
2 1,325
= 171
2 396
02 BRIZAAEEE 1,892 0 1,892
OMME DI 1,892, 0002 1,892
2 1,325
= 171
2 396
SASOBILXR A 60,000 0 60,000
= 30,000
= 15,000
2 15,000
307 BIRH0IH 60,000 0 60,000
=2 30,000
= 16,000
2 15,000
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S A
K| ZH -
(=

&l

[
$
P
rio

S - BB () - HRAY - BaES

=
12

Sl

[yl

ol &k

HIWES

0

60,000, 000&

M

60,000

60,000
30,000
15,000
15,000

60,000

M

120,000

75,000
11,000
34,000

120,000

307 2I12+0IA

HH

120,000

75,000
11,000
34,000

120,000

O2FLE NSNS (NS LAIHAIY)

120,000, 000&

M

120,000

120,000
75,000
11,000
34,000

120,000

M H A

700,000

500,000
100,000
100,000

700,000

A

700,000

500,000
100,000
100,000

700,000

O SEXN=E5 NAA(SAZHE Sal
AHI) 0

700,000,000&

M

700,000

700,000
500,000
100,000
100,000

700,000

M H

392,626

223,813
168,813

347,420

45,206

M H

307,626

153,813
153,813

171,420

136,206

M H

307,626

153,813
153,813

171,420

136,206

307,626,000

M

307,626

307,626

153,813
153,813

171,420

136,206
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SN sEND
By QECH] XTH o 22
CHol: SAE JbBitel BAE (=EEE))
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
2UTC A 60,000 0 60,000
= 60,000
402 DI2EXF=0| & 60,000 0 60,000
= 60,000
01 BRITIZAI R R 60,000 0 60,000
ORUZC HOYELT| 60,000,002 60,000
= 60,000
A2 JIRA TIRAY 25,000 0 25,000
= 10,000
2 15,000
402 DI2EXF=0| & 25,000 0 25,000
= 10,000
2 15,000
01 BRITIZAIEE R 25,000 0 25,000
OsAZ B3 3243 BFs
570 24%5,000, 0002 25,000
= 10,000
2 15,000
RENEES 776,800 695,600 81,200
= 165,700
2 611,100
NS0 =550 HRASLUS X 150,000 0 150,000
= 75,000
2 75,000
402 DI2EXH=0| & 150,000 0 150,000
= 75,000
2 75,000
01 BRITIZAI R R 50,000 0 50,000
O 2250 HRYFBE NAAI
150,000, 0002 150,000
= 75,000
2 75,000
+EB=0F S TR 120,000 100,000 20,000
= 60,000
2 60,000
402 DIEXFR0I & 120,000 100,000 20,000
= 60,000
2 60,000
01 ERIIEAIEEE 120,000 100,000 20,000
O 2+BSE 05 A28 NA
120,000, 0002 120,000
= 60,000
2 60,000
SASSEEANZ N 30,000 150,000 120,000
= 30,000
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n0 oY oY ™ - N | o S
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E
o
o o o o o o o o o o o o o o o o (@)
o (@) (e} o (@) (@) (] (@) (&) o (] (@) o () (&) (e}
ST S (s S © S © S s S S S 1S S S
Wa |~ = NI RNEEN! N 1
ifed]
RS
s gl gglglglg gleasslsssls gsslelsle 888 glglg g8/8l 88 8 88
5388 858|818 8IS RRISRRE SRRITIS T §88 88|18 8|88 88 8 88
o OO o OO o (@) o — — — — [Yo) Lo Lo —_ < O (e} < < << (<o} (<o} O O (@)
[a\] [aV] Al Al (VY] N AN —
]
<
S
i L4 H H H
] [ o o o o] o] S ou o o
(e} o o Al < < < 0 o [N ]
QO O O X X *x X x O o O
S S S ® o il 0 o] S S S
g S g S 8 S 9 Q S 28 8
i S 3 < WS S S o 50 S ¥3 8
X0 & N T kS 8 8 S - ¥ R a9
£ ) ol S| En T
. L - o 3 o1 Il
[ ol X s - S =
3 = - o RJ w0 = = B
=< o 0 - - = 0o o3
ES = o o K s ol ) 5 o
. K a = o 2 0 o G T
= Hr o K | M K] 22 % 20 20 s
= ~ = iy | 100 0 I = L i Kl K w5
) " o <F |k %l % ® K <+ 5 5 - A
— [ m._Cn o - . FH_I.M g = = vl
Dl i (Bl D3 5 |z oo =5 fsw 2 w3 o ® % Y
ol |l T ol I D D omw WD Doy D o= ol nie & U
O E T il g0 w2 RIS W wd T 12T % Qw o ow w
o L oy o | oM R S I I N A e L oV I S M
o w | T R 1) o [T =z © gy 2 o BT s
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< (@] — (@] — o o (&) o () (@) (@] (&) (e} (e} —
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2H: 5=
Mz zle
=AH
=

&l

0
o
M
40
£
EY

i _ _ AT
SA - ZH . GA(SH) - HRAY - B82S Oi &K Ol] AkoH HlwZS

0

ZEd FEFLE daD|gtxd 7,820,873 7,613,872 207,001

1,616,033
140,000
782,416
872,063

4,410,361

HHN S X4

S
Pa
Mo
o
0z
1y
0y
toi

1,260,057 1,158,750 101,307

90,000
43,602
45,601
1,080,854

H NS

steatd =4 99,940 99,040 900

18,420
81,520

H

307 B12t0I& 8,000 8,000 0

3,200
4,800

M H

02 QIZIHAAIEE X 8,000 8,000 0
Ol D== M4 Eotsot Zddzs KNI
320,000&*255 8,000

3,200
4,800

M

402 B0 91,940 91,040 900

15,220
76,720

O

01 QIZEXZAEE X 91,940 91,040 900

30,0003 *9405+50% 14,100
900
13,200
Oet*ESMY 10,000&+6, 3605 63,600
7,200
56,400

O
ror
H0
o
>
>
T
[=x
=
0
>
i

H

M H

14,240,000& 14,240
7,120
7,120

M

StusaSAKIE AR 72,670 73,100 N30

43,602
8,720
20,348

S

M H

402 RIF =0 72,670 73,100 A0

43,602
8,720
20,348

S

) H

HEX 72,670 73,100 2430
Ot uKRSAXZ A 72,670,000 72,670

Jl 43,602
S 8,720
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SN SEND
Ha: ey FFENS MAD|BIEY
el EAS AW s (Er9): &)
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
| = 70,348
RANAZY 35,597 34,560 1,087
= 10,961
2 24,636
402 DIRIXH=0IF 3,597 34,560 1,087
= 10,961
2 24,6%
01 SIRIEAER 3,507 34,560 1,087
OY=RHTIAAY 24,000, 00021 %22 *50% 24,000
= 9,000
2 15,000
ORSBSAATAR(URSA+SLN)
11,597,002 11,597
= 1,961
2 9,6%
=M F A (RHA) 864,350 625,050 239,300
402 RIRHRHZ01E 864,350 625,050 239,300
01 SIIEAREES 864,350 625,050 239,300
OB 0K AR RIKI 2 AteS
20,0002+ 1, 0005+501% 10,000
OBt WA 50,00024+5, 000 5+20% 50,000
OTMRALZ PRIbl S®AI  302%7,000,000kg 210,000
OISSHATIRALY 10, 000248, 0005+50% 40,000
OYZSI} SH2HE KA
75002440, 000Kkg*50% 150,000
OLBTITHAIRALY 43024+230, 0000H+50% 49,450
OB 2A 242 N
90, 00024220 = 24#50% 9,900
OE=SIt B2 Y4l KA
400, 00021 *302+50% 6,000
OOISLZMAAIL LRI
3,000, 0002 10CH*50% 15,000
O] SRIKHAS 70,00024%2004 14,000
OYRLATY ZLRI 1,500,000/ *5ha 7,500
ORA QBHY KAAY  30,0002+60074+50% 9,000
OSFR MASIE LR KIRIAS
1,50024+8, 000D +50% 6,000
ODYE B SMH LS DUz X2
12,0022, 00074 24,000
ORLAFHO QHSRAIAE &XIXIR A
20,000, 00024x27H A#50% 20,000
OBt ASRES TSR X4 AUE X2
6,000, 00021%25ha50% 75,000
OUER 5It Z2R 8T 4£42 XA
600, 00024205 7 b<50% 6,000
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SN SEND
BE: B HEENS MAD(BIEY
ool ZA2 AW Us (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
OFFNEES (2™ ZAAY
70,000,000 x 14! 70,000
OstIHEHLEE ALY 18,000,000 * 14! 18,000
0242 JIS 28 KB Il KA
4,500,000 * 14! 4,500
O ESHXESALE 70,000,000 %14 70,000
MAH| 2D AL 7,500 17,000 29,500
= 7,500
402 RIZ2EXHE01 M 7,500 17,000 29,500
= 7,500
01 QIFTEMHEE 7,500 17,000 29,500
OASMEXRIZ0F TAIZAY 7,500
0 2HASI ISAIR MAAIY
2,500, 00024+80% 2,000
< 2,000
0 A2 AIRE 2E MASIH SHAAY
3,750,000 *80% 3,000
= 3,000
0 ALA HESLI| 018 HHMLSLAE
At 2,500,000 2,500
= 2,500
AII=ES A 180,000 310,000 A130,000
= 90,000
= 90,000
402 QI RHE0IAM 180,000 310,000 A130,000
= 90,000
= 90,000
01 IZEAEAMPE X 180,000 310,000 130,000
O ICTZS ISR U SATGHOIL AIAE
2EAY 30,000,002 30,000
2 15,000
i 15,000
O AI228 ASs 24 25 AlY
100,000,000 100,000
= 50,000
= 50,000
O SANSEZ L Mo B2 JIsAE
50,000,002 50,000
2 25,000
i 25,000
TIEEFA DB EY 1,936,993 2,103,862 A 166,869
= 27,750
J| 484,167
& 222,315
[ia 1,202,761
AFNEW HLS M 27,600 54,200 226,600
201 Yty 9,160 9,760 2600
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SN SEND
Hu: Y FHSAS MADIPEY
ol FBABA IIPEY (249l HR)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
01 Ar=aielg] 9,160 9,160 0
oustegy| 2,400
0 LA 2012 o1
1,000201,800% 1,800
0 SAAIMEZ @40 HE  50,0002+125 600
O SHI(ZALYSBARET)
7,00020%4215704] 1,960
O Yz 4,800
0 SN SBIZ Ut
600, 0002 *2CH*23] 2,400
0 JIEEW| 2B VX
600, 0002 *2CH*23] 2,400
202 O1H| 9,600 11,600 £2,000
ETGE] 9,600 9,600 0
CEEICINTER BN
200,0002401 122 9,600
301 LBHB AL 6,440 21,440 A15,000
090 EAIAEI 2 A 6,440 6,440 0
O BNAEDS L BIIS| 8B4
30,00024%2491+25] 1,440
O =tHsD} Blm2st 50,0002+ 1002 5,000
307 RI2H0I 2,400 2,400 0
02 EIRIAMAIEER 2,400 2,400 0
O BigUESR PRANE 29
2,400,000+ 1] 2,400
ENEEESTIEIN 57,300 59,000 A1,700
= 22,920
2 4,380
402 DIZHRHE0|H 57,300 59,000 A1,700
= 22,920
2 34,380
01 BRITIZAIEER 57,300 59,000 A1,700
OLZAADE ALY 57,300,002 57,300
= 22,920
2 34,380
= ATHOHALR 2R 175,000 173,000 2,000
= 25,000
2 150,000
402 DI2EXHR0I & 175,000 173,000 2,000
= 25,000
2 150,000
01 BRITIZAI R R 175,000 173,000 2,000
OIIETH 2R TR 175,000, 0002 175,000
= 25,000
2 150,000
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A
TR
=R B

el

m
0
o
0

A - 3 - S2RA(ZH) - MRAI

- paS

=
12

Sl

[ T

Ol &k2K

HIWES

0

70,000

170,000

100,000

70,000

170,000

100,000

500,000+ 1005

200,000kg*100&

70,000
50,000

20,000

170,000

100,000

S

Ml H

—_

,447,193

484,167
168,050
794,976

1,525,702

AT78,509

S

M H

—_

,447,193

484,167
168,050
794,976

1,525,702

AT78,509

0 ZAIZHAALY ALl XIMIZEH]

0 ZAIZE MAFHIXIZ(ZSH)

0 SAAIE SZIHEALY

20,660,000&

200,000,000

S

M H

1,044,000, 000&

S

M H

145,200,000

S

M

37,333,000&

M H

,447,193
,447,193

20,660
20,660
200,000

79,207
26,470
94,323

,044,000

348,000
118,320
577,680

145,200
36,300
7,260
101,640
37,333
16,000
21,333

1,525,702

A78,509

HH W

56,400

16,500
2,970
36,930

60,960

A4,560

307 212+0I1A

AW

56,400

16,500
2,970
36,930

60,960

4,560

Ostdsll gdat X2A

33,000,000 *80%

W

56,400

26,400

16,500
2,970

60,960

AN4,560
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SN SEND
Hu: FHEH FFENS MAD|BIEY
CHol: RISYZA D|BEA (=EEE))
. PSEL =
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
= 5,930
OSOIMSI SRR  60,000,0002%50% 30,000
DENASHA 30,000 30,000 0
402 QI2HXH=0IH 30,000 30,000 0
01 ERIIZAIEEE 30,000 30,000 0
OBIUREMAr AL TIZAIZAI
20,000, 00024x37H A%50% 30,000
4 4D SAL X2 51,000 31,000 20,000
307 BIRH0IH 51,000 31,000 20,000
04 BIZFHATATRIE 51,000 31,000 20,000
O BNEH ZIIA XIS 7,000,002 7,000
O MEDAH WA Nz X
35,000,002 35,000
O £AMS 2 ALK 2,000,002 2,000
O SAIhE STHRA XI 7,000,00024 7,000
£zY = 23 5292 22,500 0 22,500
= 11,250
= 3,375
i 7,875
402 DIEXFROI & 22,500 0 22,500
= 11,250
= 3,375
z 7,875
01 ERIIEAI R 22,500 0 22,500
OEZg Z2X SZEIANY 22,500,008 22,500
= 11,250
= 3,375
i 7,875
L0t 24T £ 2 22 1,545,852 1,625,731 AT79,879
= 621,063
X 140,000
= 246,319
2 538,470
TECEETIEEIETSRS 31,527 30,231 1,29
101 21218 19,767 18,471 1,29
04 IRIN22 TS 19,767 18,471 1,29
O 2H0RSER2A0I1Y| 19,767
0 QI2i| 48,2402+ 1, 5Hx201% 1202 17,367
ICEE 1,200,0002+22! 2,400
201 Br2YY| 8,160 8,160 0
01 AFR22lt] 6,000 6,000 0
O usrgt| 4,000
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SN SEAD
M FEY HIELNS MAD|BIEY
B9l LiSE SAKR B8 2 B (S92
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NLES(sHA 2,000,000 1,000,000 1,000,000
LHEHHXIE 2,000,000 1,000,000 1,000,000
sHASII2 X4 2,000,000 1,000,000 1,000,000
701 JIEISI HEHEZ 2,000,000 1,000,000 1,000,000
01 JIESIHEES 2,000,000 1,000,000 1,000,000
O 2016 sgEXI|IZ2 SEHIH &2
2,000,000,000& 2,000,000
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